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Public class student

{
String name, family;
Public string fullName ()
{

string f = name + family;
return £;
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Public TestClass
{

public static void main (String[] args)
{
Student stul=new student();
Stul.name="Ali";
Stul.family="Mahdavi";
System.out.println ("StudentFullName:" +stul.fullName ());
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StudentFullName: Ali Mahdavi
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public class Circle

{
double r;
public double mohit ()

{
return (2 * Math.PI * r);

}
public double masahat ()

{

return (Math.PI * r * r);

}
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Public <class Prog Circle
{
public static void main(String[] args)
{
double radius = 5;
Circle C = new Circle();
System.out.println("kuxe:" + C.mohit ());
System.out.println ("os>lwe:" + C.masahat());

(5 o™ g 4ol g 53 Z31hg pogie

(behavior) sla &L 4 (property) ijiﬁ el Ls&,_.T O Lw g oS ol @}é&b\e-ﬁ iy
.:,T{c),w@«u!,;)n;vsb,,\iq&g
Sl IS ((Jad) sl sl WIS bl s Ll e 58 40l aST Sl ol gl 55 Sl Sy (6 o)
b IS ladls 5 badie L3l 5 n WBl5 53 ST n (6 Dl )l OIS SIS Sl el A 5

ol @lsl Wl gladls 5 badie S5 Sy sem 53 5035 eslatul Isdoes |

lol> y8 =dly9 (Silw odly Hgkwd

class W53 L IS 500 extends 4 WS L

{
LAAL_&)LA-\:.A

}
5 bdls o ol glasl podle S US sl Lds WIS S extend (g o5l sulS

extendL;ajlj.w\:rJab:fj.,\ig;\.au\.uju.ll:éj\a:@‘&&:j@&)‘sgb)u\iw)\féuu\u
0 0T (gl gin 5 S5 (glael aS7 IS 0T cJavadl 5o .ol Cos g g0 S5 (sla bl 2ol 531 (glims 4

OT 5 355 o «uiS (super/parent class) Liyl WS L,y DS 308 o o3ls Syl 0 6 5 WS



< c~\.§|}>'- (subclass) 4e gazea p ) lﬂ Ju)je U"% C)Uﬂ.'p‘ BE S < Sr C)J‘ o u«u% )\ ny gs""%

.J)_w

lal> 50 S 9 @yl 3 Jbo

\

Employee

salary: float

L 4
4N

\

Programmer

bonus: int
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Class Employee

{
float salary=40000;

Class Programmer extends Employee
{
int bonus=10000;
public static void main(String argsl[])
{
Programmer p=new Programmer () ;
System.out.println ("Programmer salary is:"+p.salary);
System.out.println ("Bonus of Programmer is:"+p.bonus);

(ST

Programmer salary is:40000.0
Bonus of programmer is:10000
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class Animal
{
void eat ()
{
System.out.println("eating...");
}
}
class Dog extends Animal
{
vold bark ()
{
System.out.println ("barking...");
}

class TestInheritance
{
public static void main(String args|[])
{
Dog d=new Dog () ;
d.bark () ;
d.eat ()



